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Section : General Intelligence and Reasoning

Q1 Arrange the following words in a logical and meaningful order.

1. Micron

i)

. Metre
. Mile

. Millimetre

o

. Kilometre

=

. Centimetre

Ans X1, 4-6-2-5-3-1
X 2 4-6-2-5-1-3
3 1-4-6-2-5-3
X 4 1-4-6-2-3-5

Q2 zx ez v o & B ¥ 59 T 7 B ot 59 £ 3R oF amAT &) 39 A 4
FT T F

Ans x1q:r|3—rr
X 2. IEHETETE
v 3 STeRTIE
K4 e
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Q3w Rwes F w79 F WA 77 @ @ AR Fee & o Reg o woaw gan ¥ At wedt
ofie o feme &

N

Ans

U I F wer ¥ TE A § S FE B -3
As %1 arat

X2 Fr

\,3-341‘41?

X 4 AT
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Q3 37 R # TUw WY, Towd & 7§ sl sl ¥ (g & el 78 R)

o

Ans \

Q.6 3EIE A, 3591E B F T2 FE ¥| 3R 37916 A T Hed 5098 B F Hw H e F SN 95 S E
ar FeE A FT A Hew 317 @ S §) 309 B & Hew waw E?

Ans (1_ 75
<233
<3 37
<4 36
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Q.7 Select the number that can replace the question mark (?) in the following series.

4,25, 121,72, 529, 961
Ans  of 1 280
< 2. 361

X 4. 256

Q.8 Inthe given Venn diagram, *Group A’ represents those who can speak 'English’, ‘Group B’ represents those who can
speak ‘Hindi’, and ‘Group C’ represents those who can speak ‘Marathi’. The numbers given in the diagram represent the
number of persons in that particular category.

-
(/)
>/

C

How many persons can speak exactly two languages?

Ans X 1. 21
v 2 18
<33
X412

Q.9 Ina certain code language, 'GUM! is coded as '49441169'. How will 'WAX' be coded as in that language?
Ans X' 1. 8412525

< 2. 2891400

v 3 5201576

K< 43611121



http://sscportal.in/

Q10 select the figure that can replace the question mark (?) in the following series.

>
L]
-J

Ans

V<> >

QM How many triangles are there in the given figure?

Ans ?{1_ 12
X209
<310
V41l
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Q.12 =¥ 3E-mag v o § wd & & O 7 O T e § R o ameEe ) e s
HET-HHE &1 T4 F)

ans o 1 HFE
X 2 DVR
X s GMF
X4 OVG

Q.13 Select the correct mirror image of the given figure when a mirror is placed on the right of the figure.

o

Ans

Ko

@Y | of

NO| INO| INO| INO
oV | 6f
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Q.14 Three different positions of the same dice are shown. Select the symbol that will be on the face opposite to the one
showing * @ °.

Ans X‘] <
X2 &

Q15 Rrrefofes gger & wa-Rea (?) H o8 A T HER-FHg F 9IF H
AQS, CQU, 7, GUY, IWA
Ans X 1. GSW
# 2. DRV
V'3 ESW
<4 FSX

Q.16 Study the given pattern carefully and select the number that can replace the question mark (?) in it.

10 |3 14

49 |15 |68

33 |19 |?
Ans  of 1. 28
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Q17 Select the letter that can replace the question mark (?) in the following series.
W.Q,7,.H.E,.C
Ans x 1. N
vl
X3 M
X4 K

Q.18 select the option in which the words share the same relationship as that shared by the given pair of words.

Turmeric : Spices
Ans X 1. Apricot : Pear
7% 2. Nutmeg : Chilli Flakes
« 3. Dates : Dry Fruits
7% 4. Fig : Cashew Nuts

Q.19 Select the option that is related to the third number in the same way as the second number is related to the first number.
6:252::5:72

Ans X' 1. 125
v 2 150
<3 225
<4175

Q.20 gEmst % IR A BT v §, Bwd @ O B 7 G O @ wEE § ik o s Rl sw
HUATT FEAT- GeH T

Ans  of 1.8-138
X 2 5-155
<3.11-143
X 4 6-174
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Q.21 Ina certain code language, PYTHON' is written as 'LMFRWN'. How will RHYTHM' be written as in that language?

Ans X' 1. MFRWFT
& 2. NFRWFS
« 3 KFRWFP
& 4 MFRWFX

Q.22 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:

1. All cars are trucks.

2. Some buses are cars.
Conclusions:

I. All cars are buses.

II. Some buses are trucks.
TII. All trucks are buses.

Ans 3 1. Only conclusion I follows.

« 2. Only conclusion II follows.
#< 3. Only conclusions I and III follow.
/< 4. Only conclusions II and III follow.

Q23 A + B means ‘B is the sister of A’

A— B means ‘A is the father of B";

A * B means ‘B is the son of A”;

A+ B means ‘B is the husband of A"

If, E-F-H+Jx G+D, then how is D related to H?
Ans X 1. Aunt

< 2. Uncle

#< 3. Father
W 4 Niece
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Q24 WWhich two digits should be interchanged to make the given equation correct?
32+-6+26-13x6=54
Ans X 1. 3and 6
/2 3and
/<3 2and3
W4 6and?2

Q.25 study the given pattern carefully and select the number that can replace the question mark (?) in it

Ans  of 1. 464
K 2 446
X 3 444
X 4 4126
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